A HL %
14 4 SRR 2 7 AR R T VRS R B s [ SECIE S
ALK OBHAL D P EBA KEE Bt ek AL
MLABF  Fpo7E11A20H 1450 BHAL B SERR2TAELLH2TH  ZFail11BE174)
1 [9]
A FL = o
1| (BR) 77 =& 14, 790, 000
2 | (BR) #=EEE 5, 880, 000
) r¥UT—%77 h
3 4o % 5, 680, 000
4 (AR () 3, 450, 000
5 | (Bk) =Rt sEEaT 5, 880, 000
6 | (BR) BVEEE 1, 840, 000 L
7| (BR) —HERXFHEEAT 6, 710, 000
VARG Iy VR
8 ){\/h?*%jxx o 6, 350, 000
9 | (BR) JbreEskimestEmeT 6, 720, 000
10 | (BR) AL EEZRRETFHAT 8, 370, 000
11| (BR) Mg FEsrT 5, 000, 000
T OE Al K (BLEAmAS) 6,490 T
AT L VEATAS  (Bikfms) — TH




